LT
1F ap
3 F spik

41
5.1

[m |

[ l%‘?lﬂm_a Jﬁzfotvr+ ptly
ar |A3¢

2. 3B\ = 70k +iquh!

C Al 4 9% 1204 a5
> %gehk= 3 ’“ba 6“\




I\ 0 —Ip |am3 Owﬂﬂ dﬂ;ﬂ% \Dm QP <« 2In ( Mowts Dhuk
2.ekmm*r on PT

B G :PI‘@ ﬁdldmwmlpﬂe (e o ¥

60. oAl- | OO
b TLT'* |ﬁ 23 \
( adowiod) ( puiod#) (mule') (mox. %e)
Elmots  #P  He” T L1 ken  Hew
" p=e" W lvet 1 m \e«@%
Wgogn || | | |
1 A e

Neon N 0 10 X
s M T 2 £ 4



Homework: Chapter 5 Review

Chapter 5 Test Format: 25 muitiple choice, 5 vocabulary matching, § scientist matching, §
chart, 2 average atomic weight, and 3 nuclear reactions. R

lete the following multiple choice questions.
1. How many protoms, neutrons, and electrons are in a neutral atom of sodinm?

Ip, 120", 1€ . e L3
B 11p, 110, 126 NEOED mEnst P amee ™ sqye

C 12p' 110", 126 #ok p' = odomme I
D 12p%11n°, lle

© 2. Which of the following describes what takes place whes iron (Fe’) becomes Fe**

ions? ( eleckronsS /.
A A gain of two electrons 4o cecome 2+ dwo nt(})&*\\)& ?&ﬁ'\ﬂu
(B) A loss of two electrons musy be \os+

A gain of two protons

D A loss of two protons
103, Which scientist was the first to conclude through experimentation that stoms have
positive charges in their nuclei?
A Bobr
B Dalton
(B) Ruter
Rutherford

s
Q‘. Three clements, X, Y, and Z, have consecutive numbers. If element
X is 2 nobie gas, what will be the symbol for the ion of element Z in its compounds?

: :.L j}“ o 1; ._ Hsziod{c. Yolle

CLARS T} TAcments fu
A_S. :r.;:ﬁurﬁmlwﬂehuphm'wﬂﬂ-%l-m

(A A proton is gained. n }gm} 'S e |

B An electron is gained. \

C A neutron is lost

D The clectron cloud size is decreasing. l )

6_6. Radioactive iodine-131 has a half-life of eight days. The amount of & 200.0 gram
sample left after 32 days would be —

it Tee |t
C 250g O 2,00.05
D 500g 3 T50.0m
|l 0.0 5
ay 25009

T 32 U 159
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L 7. Which of these concinsions can be drawn from Rutherford's experiment?
A Each stom containg electrons.
B The nucleus of an atoe can be split.
C Each atom contsing protons.

(_I!, Atoms aro mostly empty space.

Q¢l. How dees the C-14 differ from its stable counterpart C-127 +*
At bas  different sumber of protons and two less neutrons then C-12, g LT

B It has the same number of protons and two more electrons thas C-12. \S(T'IOQQ dl%—mﬁtd.
((© It has the same number of protons but two more neutrons than C-12.

Dk has a diffiront number.of protons and two more neutrons thas C.12. N
(\49. Atoms of the same clement must — Mun' MUST, MUST —— qu
A contain the same namber of neatrons -
B have the same mass number ﬁoiprmw=\dumo¥w
the same mumber of protons

D have equal oumbers of protons and neutrons

D_ll. Chiorine forms a I- ion. How many electrons does a chloride ion have?
Al

B 16 NLAYO) Cnont® = \Tle”

:: - (a0 Waas g AN€E” SO e

hu. Isotopes of am element have different —

[:') atomic masses u)hm_w #0? 2 ac’
C  oumbers of protons o W‘O&f fho mosses
D oumbers of outer-shell electrons

Prodors | Meusbroms | Elsolrons
_91 " 12 L]

3" 1 0. 2

3| 1 1. .

4| 20 20 ] _

Az mumn-nm.mo@@——mw\s mwmgxo‘m
52 han elethons
C 3
D 4



(;ll Which of these elements contains four valence electrons?

A Helium .
Bervium cemenier You can wse peviadic +adetofind
@ﬂ 1A 1A | A @ A Wk Wb
; ~ w
Y

P* + - must be same.

13 electrons, 13 protons, and 14 neutrons P*_'_nﬂ = oS

@ 14 protons and 13 neutrons
13 electrons, 14 protons, and 13 neutrons

Cations are formed when neutral atoms lose —

protons Coenpn = PoBthud 10N
=, RoNas 2 sce R SN N _
15 e poschut Yhone Bce ot @ Yan €

16. The atomic number corresponds to an stom’s number of —

&l‘?. How many valence electrons does a neutral stom of silicon have?

i Fod Sueen oo QDQ(\cd\'L'*O-HE- ARG
T s YA sb YoeT =%
D 6
Element Protons Neutrons Electrons

1 20 20 20

y ] 40 44 40

3 20 10 10

4 20 20 40

1X18. Which represents an atom of calcium?

MDM\L*‘ = ¥ ol pﬂj’\'bﬁ?
P* =&~ Wt revvo)

mﬁ""?{'-q-

scientist has found the following isotope of oxygen:

"%
o)
Hwnuylﬁﬂmpmnthtﬁ:hg?
e 1OSS s
\O, §gub‘no.r:\’fo$rc\ AR
6&. Ador L



2. The net charge o an sluminum on o 3 becauae there are —
A 10 protons and 13 electrons in the atom _ _
B 13 protons and 10 neutrons in the nucleus W@'ﬂp we
10 neutrons and 13 electrons in the atom N 12 — ke #e=1D
®13mm¢lmmmmm 3 = 1%

{).21. One indicator that electrons in atoms are limited to specific energy levels is that —
A atoms move faster when heated
B the light given off by atoms is all at the same wavelength
the Doppler effect shows a shift in wavelength for H-atom light
(% light emitted from excited atoms gives off specific amounts of energy <— Y-Qmmw

22. Which of the following describes a proton? Bon's STuaies
charge of 1+ and a mass of 1 amu
b 5| p | e

C No charge and a mass of 1 amu i \ 5

D No charge and no mass ——D'“‘e O -

23. Which of the following would represeat an isotope of:
=X | usk have
= WG ne, oot ¥
A g x lé x C : x D g x

Fill in the following chart for the scientists that discovered the atom and its parts.

Scientist What he found. | His Experiment How you are
going to
remember it.
24. Bokr oy | evels Spethvum v Bone "’lfﬂ

25.m dikor 51:\ of the o) dIOPb ol pot muk
26. \S Mos Gold Foil \
Q - Au oy ‘{‘fﬂj—-

LW : W-n AS
27. NOoed Ney¥hade Thompson Tubes
D oo | elethon 'T’ul:fxm:_’u.| -

28. Dalton m(grmq —_— mwm




Complete the following “p, n, ¢” chart.
Name Symbol | Atomic | Mass | Protons | Neutrons | Electrons
Number | Number | '

B[ Carbon-3[TC [, 2 o | 4 =
* i [ 1 [36 [ T [ [ 3
3L 7500 -6) an 30 67 30 21 2D
32 Olml‘? :goa-- 3 = ? C’I |D
Bohtue WS [ o [ ] W R 16

Determine the average atomic weight of the following elements.

34. Zinc: 35. Sulfur:
“Zn 48.89% S 95.002%
oZn 27.81% 2 0.76%
wZn 4.11% “S  422% |
WZn 18.57% S 0.014% e
@ ™Zn 0.62% (B 90W s
(m AT ) + bl x 260 ) M x4\, + (kp%a\%ﬂﬂ“]hﬁ-(’]oxo.bﬁ?.);
_ \o0
@ (222 95.002%) + (z3x 07+ B4 x 4251+ (BoxOOm) | 29/
\ OO0 e, atomt oS

Write the nuclear reaction equations for the following elements,
35. The alpha decay of neptunium-237 (Np).

23 233 A
CIQN?% a1 o+ .:-10{

36. The beta decay of radium-227 (Ra).

o
& R bt 24






